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Section 1 - Part A-General Intelligence  
 

1) What can be the coded form of the string BASIT from 
figure 1 and figure 2?  
Figure 1: 

  
Figure 2: 

 
A) 88, 45, 66, 56, 68  

B) 58, 23, 44, 12, 87  

C) 99, 23, 45, 78, 76  

D) 75, 34, 89, 23, 59  
 

 

1) िचᮢ 1 और िचᮢ 2 से ᮰ृखंला BASIT का कूट ब᳍ ᳰकया ᱟआ ᱨप 
᭍या हो सकता ह?ै  
िचᮢ 1: 

   
िचᮢ 2: 

 
A) 88, 45, 66, 56, 68  

B) 58, 23, 44, 12, 87  

C) 99, 23, 45, 78, 76  

D) 75, 34, 89, 23, 59  
 

 

 
 
2) A set of statements is given.  
A) P is a two-digit number,  
B) P is greater than 80.  
Which of the given set of statements should be used to 
decide the solution to the problem: Is P>90? 

A) Not possible to decide even with both A and B  

B) Only B  

C) Both A and B together  

D) Only A  
 

 

 
 
2) कथनᲂ का एक समूह ᳰदया गया हIै  
A) P दो अंकᳱय सं᭎या ह,ै  
B) P 80 से अिधक ह.ै  
᭍या P>90 ह?ᱹ इस सम᭭या का समाधान करन ेके िलए ᳰदए गए कथनᲂ 
के समहू मᱶ से ᳰकसका उपयोग ᳰकया जाना चािहए? 

A) A और B दोनᲂ के साथ भी तय करना संभव नहᱭ ह ै 

B) केवल B  

C) A और B दोनᲂ एक साथ  

D) केवल A  
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3) Out of 52 playing cards king, queen and jack of clubs 
are taken out. What is the probability of getting a heart 
from the playing cards?  

A) 25/62  

B) 13/49  

C) 23/52  

D) 81/42  
 

 

3) 52 ताश के पतᲂ मᱶ से िचड़ी के राजा, रानी और गुलाम को बाहर 
िनकाल ᳰदया जाता ह।ै ताश के पतᲂ मᱶ से ᳰदल (Heart) आने कᳱ 
संभावना ᭍या ह?ै  

A) 25/62  

B) 13/49  

C) 23/52  

D) 81/42  
 

 

 
 
4) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Cordial : Hostile :: Affirm : _________ . 

A) Assert  

B) Object  

C) Confirm  

D) Deny  
 

 

 
 
4) िन᳜ चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो ᳰक ि᳇तीय जोड़ी को 
पहली जोड़ी के समान ᳰदया जाएगा:  
ᳩेहपूणᭅ : शᮢुतापूणᭅ :: पुि᳥ करना: _________। 

A) दावा करना  

B) िवरोध करना  

C) िनि᳟त करना  

D) इनकार करना  
 

 

 
 
5) How many triangles are there in the given figure? 
  

 
A) 7  

B) 11  

C) 5  

D) 9  
 

 

 
 
5) ᳰदए गए िचᮢ मᱶ ᳰकतन ेिᮢकोण ह?ᱹ 

 
A) 7  

B) 11  

C) 5  

D) 9  
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6) Out of the total income of Rs. 12000, Ravi saves one 
fifth. Out of the remaining, he spends half on food and 
one third on transport. Remaining money he spends on 
entertainment. How much money does Ravi spend on 
entertainment (in rupees)?  

A) 1640  

B) 1440  

C) 1600  

D) 1500  
 

 

6) रिव कᳱ कुल आय 12000 ᱧपये ह।ै वह एक पांचवᱶ बचाता ह।ै शषे 
मᱶ से, वह भोजन पर आधा और एक ितहाई पᳯरवहन पर खचᭅ करता ह।ै 
शेष पैसे वह मनोरंजन पर खचᭅ करता ह।ै रिव ᳰकतना पैसा मनोरंजन 
पर खचᭅ करता ह ै(ᱧपए मᱶ)? 
  

A) 1640  

B) 1440  

C) 1600  

D) 1500  
 

 

 
 
7) There are 160 children in a class comprising of two 
sections – A (with 100 students) and B (with 60 students). 
The average score of the students of section A is 75 while 
the average marks for the entire class is 76. What is the 
average marks for the students of Section B?  

A) 77.67  

B) 78.33  

C) 78.67  

D) 77.33  
 

 

 
 
7) एक कᭃा के दो वगᭅ - A (100 छाᮢᲂ के साथ) और B (60 छाᮢᲂ के 
साथ) मᱶ 160 बᲬ ेह।ᱹ वगᭅ A के छाᮢᲂ का औसत ᭭कोर 75 ह,ै जबᳰक परेू 
वगᭅ के औसत अंक 76 ह।ᱹ वगᭅ B के छाᮢᲂ का औसत अंक ᭍या ह?ᱹ 
 
  

A) 77.67  

B) 78.33  

C) 78.67  

D) 77.33  
 

 

 
 
8) Which of these terms is NOT similar to others in 
respect to unique number of consonants in the given 
word?  

A) FINALIZE  

B) WRITTEN  

C) STYLE  

D) OTHER  
 

 

 
 
8) ᳰदए गए पदᲂ मᱶ से कौन सा पद ᳞जंन (का᭠सन᭠ट) कᳱ अनूठी सं᭎या 
होने के वजह से दसूरे पदᲂ से अलग ह?ै 
  

A) FINALIZE  

B) WRITTEN  

C) STYLE  

D) OTHER  
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9) A gold medal carries 5 points, while silver and bronze 
medals carry 3 and 2 points, respectively. Both P and Q 
have won 3 golds, while R and S have won 1 and 2 golds, 
respectively. Each of the four has won 2 silver medals. 
P, Q, R and S won 5, 3, 0 and 7 bronze medals, 
respectively. Who has won maximum medals?  

A) R  

B) P  

C) S  

D) Q  
 

 

9) एक ᭭वणᭅ पदक 5 अंकᲂ का ह,ै जबᳰक रजत और कां᭭य पदक ᮓमशः 
3 और 2 अंक के ह।ᱹ P और Q दोनᲂ न े3 ᭭वणᭅ पदक जीते ह,ᱹ जबᳰक R 
और S ने ᮓमशः 1 और 2 ᭭वणᭅ जीते ह।ᱹ चारᲂ ने ᮧ᭜येक 2 रजत पदक 
जीते ह।ᱹ P, Q, R और S ने ᮓमशः 5, 3, 0 और 7 कां᭭य पदक जीत ेह।ᱹ 
ᳰकसन ेअिधकतम पदक जीता ह?ै  
 

A) R  

B) P  

C) S  

D) Q  
 

 

 
 
10) How many triangles are there in the given figure? 

   

A) 12  

B) 16  

C) 14  

D) 10  
 

 

 
 
10) ᳰदए गए िचᮢ मᱶ ᳰकतन ेिᮢकोण ह?ᱹ 

 
A) 12  

B) 16  

C) 14  

D) 10  
 

 

 
 
11) A cube of side length 6 cms is painted green on all 
its faces. It is cut into small identical cubes of side length 
2 cms. How many of the small cubes will have none of its 
faces painted?  

A) 1  

B) 27  

C) 16  

D) 0  
 

 

 
 
11) एक घन िजसकᳱ ᳰकनारे कᳱ लबंाई 6 cm ह ैअपन ेसभी मुख पर हरे 
रंग कᳱ पᱶट कᳱ गई ह.ै इसे छोटे समान घन मᱶ काटा गया ह ै िजसकᳱ 
ᳰकनारे कᳱ लबंाई 2 cm ह.ै ᳰकतन ेछोटे घन ह ैिजसके कोईभी ᳰकनारे 
पᱶट नहᱭ कᳱ गई ह?ै  

A) 1  

B) 27  

C) 16  

D) 0  
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12) If Hyderabad is written as Ixedszcze then Chennai 
can be written as  

A) Dgfmozj  

B) Cdgkty  

C) Abnorqs  

D) Dkmnfg  
 

 

12) यᳰद Hyderabad को Ixedszcze के ᱨप मᱶ िलखा गया ह ैतो 
Chennai को ᳰकस ᱨप मᱶ िलखा जा सकता ह?ै  

A) Dgfmozj  

B) Cdgkty  

C) Abnorqs  

D) Dkmnfg  
 

 

 
 
13) The next term in the series 6, 23, 58, 117, ____ is  

A) 197  

B) 206  

C) 119  

D) 311  
 

 

 
 
13) ᮰ृंखला 6, 23, 58, 117, ____ मᱶ अगली सं᭎या ह ै 

A) 197  

B) 206  

C) 119  

D) 311  
 

 

 
 
14) What is the coded number for WNCSZV from the 
following figure?  
Figure: 

 
A) 318267  

B) 348957  

C) 348267  

D) 348967  
 

 

 
 
14) िन᳜ िचᮢ से WNCSZV कᳱ कूट कᳱ गई सं᭎या ᭍या होगी?  
िचᮢ: 

 
 

A) 318267  

B) 348957  

C) 348267  

D) 348967  
 

 

 
 
15) What is the code for the string FRCSNW from the 
following figure?  
Figure: 

 
A) 5269435  

B) 528243  

C) 528963  

D) 528943  
 

 

 
 
15) िन᳜िलिखत िचᮢ से ᮰ृखंला FRCSNW के िलए कूट ᭍या ह?ै  
िचᮢ: 

 
 
A) 

5269435  

B) 528243  

C) 528963  

D) 528943  
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16) If Z=Y=W>R and R≤K, then which of the following 
relations will be false?  

A) Y>R  

B) Z>R  

C) Z=W  

D) K<R  
 

 

16) यᳰद Z=Y=W>R और R≤K, तो िन᳜िलिखत मᱶ से कौन सा संबधं 
गलत ह?ै  

A) Y>R  

B) Z>R  

C) Z=W  

D) K<R  
 

 

 
 
17) The next term in the series 246, 124, 64, 35, 21.5, 
____ is  

A) 21.34  

B) 18.95  

C) 15.75  

D) 16.78  
 

 

 
 
17) ᮰ृंखला 246, 124, 64, 35, 21.5, ____ मᱶ अगली सं᭎या ह ै 
 

A) 21.34  

B) 18.95  

C) 15.75  

D) 16.78  
 

 

 
 
18) In a mobile circus party, there were 100 hens, 90 
goats and 16 camels supervised by certain number of 
shepherds. If the total number of feet is 448 more than 
the number of heads, then how many shephards were 
employed?  

A) 28  

B) 32  

C) 34  

D) 30  
 

 

 
 
18) एक मोबाइल सकᭅ स पाटᱮ मᱶ, 100 मुᳺगᲈया, 90 बकᳯरयां और 16 
ऊंट एक िनि᳟त सं᭎या के चरवाहᲂ ᳇ारा दखेरेख ᳰकए जात ेथे। यᳰद परैᲂ 
कᳱ कुल सं᭎या िसर कᳱ सं᭎या से 448 अिधक ह,ै तो ᳰकतन ेचरवाहᱶ 
कायᭅरत थे?  
 

A) 28  

B) 32  

C) 34  

D) 30  
 

 

 
 
19) You are given a statement.  
A) P is a natural number having three digits.  
Which of the following questions can be answered by 
using the given statement? 

A) Is P>999?  

B) Is P<150?  

C) Is P<1000?  

D) Is P>150?  
 

 

 
 
19) आपको एक कथन ᳰदया गया ह।ै  
A) P एक ᮧाकृितक सं᭎या ह ैिजसमᱶ तीन अंक ह ᱹ।  
ᳰदए गए कथनᲂ का उपयोग करके िन᳜ मᱶ से ᳰकस सवाल का उᱫर ᳰदया 
जा सकता ह?ै 

A) ᭍या P>999?  

B) ᭍या P<150?  

C) ᭍या P<1000?  

D) ᭍या P>150?  
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20) The next term in the series 154, 170, 202, 266, 394, 
____ is  

A) 436  

B) 586  

C) 650  

D) 476  
 

 

20) ᮰ृंखला 154, 170, 202, 266, 394, ____ मᱶ अगली सं᭎या ह ै
  

A) 436  

B) 586  

C) 650  

D) 476  
 

 

 
 
21) Four pairs of related terms are given. One of them, 
does NOT have the relation between terms that others 
have. Which one is it?  

A) Pen-Table  

B) Car-Sky  

C) Brick-Wall  

D) Tile-Floor  
 

 

 
 
21) संबंिधत पदᲂ के चार जोड़ ेᳰदए गए ह।ᱹ दसूरे पदᲂ के बीच जो स᭥ब᭠ध 
ह ैवो इनमᱶ से एक मᱶ नहᱭ ह।ै वो पद कौनसा ह?ै  
 

A) क़लम-मज़े  

B) मोटर-गाड़ी-आकाश  

C) ᲊट-दीवार  

D) टाइल-फशᭅ  
 

 

 
 
22) Find the odd one out.  

A) Tenderness  

B) Endearment  

C) Callousness  

D) Love  
 

 

 
 
22) िवषम पद को खोजᱶ।  

A) कोमलता  

B) लाड़ ᭡यार  

C) िन᳧ुरता  

D) ᮧेम  
 

 

 
 
23) The next term in the series 1960, 784, 313.6, ____ is 

A) 132.66  

B) 125.44  

C) 178.11  

D) 112.22  
 

 

 
 
23) ᮰ृंखला 1960, 784, 313.6, ____ मᱶ अगली सं᭎या ह ै 

A) 132.66  

B) 125.44  

C) 178.11  

D) 112.22  
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24) To qualify for job P, maximum age can be 30 years, 
10th marks should be more than 50% and work 
experience should be at least 3 years. To qualify for job 
Q, one should have a minimum age of 25 years, 10th 
marks should be more than 60% and work experience 
should be at least 1 year. Matt has 66% marks in 10th, 
he is of 23 years and has a work experience of 2 years. 
For which of these jobs does he qualify?  

A) Only P  

B) Both P and Q  

C) Only Q  

D) Neither P nor Q  
 

 

24) नौकरी P के िलए अहᭅता ᮧा᳙ करन ेके िलए, अिधकतम उ᮫ 30 वषᭅ 
हो सकती ह,ै 10 वᱭ के अंक 50% से अिधक होन ेचािहए और कायाᭅनभुव 
कम से कम 3 वषᭅ का होना चािहए। नौकरी Q के िलए अहᭅता ᮧा᳙ करन े
के िलए, ᭠यूनतम 25 वषᭅ कᳱ आयु होनी चािहए, 10 वᱭ के अंक 60% 
से अिधक होने चािहए और कम से कम 1 वषᭅ का कायाᭅनुभव होना 
चािहए। मैट कᳱ 10 वᱭ मᱶ 66% अंक ह,ᱹ वह 23 वषᭅ का ह ैऔर उसके 
पास दो वषᭅ का कायाᭅनभुव ह।ै इनमᱶ से कौन सी नौकᳯरयᲂ के िलए वह 
यो᭏य ह?ै  

A) केवल P  

B) P और Q दोनᲂ  

C) केवल Q  

D) न तो P और न ही Q  
 

 

 
 
25) Radha and Joy are the kids of Mr. Ravi and Mrs. 
Sabita Verma. Ravi's age is three times Radha's age, 
while Sabita is twice as old as Joy. If Ravi is 9 years older 
than Sabita and Radha is 7 years younger than Joy, what 
is the present age of Sabita?  

A) 60 years  

B) 55 years  

C) 50 years  

D) 65 years  
 

 

 
 
25) राधा और जोय ᮰ी रिव और ᮰ीमती सिबता वमाᭅ के बᲬ ेह।ᱹ रिव 
कᳱ आयु राधा कᳱ उ᮫ का तीन गनुा ह,ै जबᳰक सिबता जोय से दोगनुी 
बड़ी ह।ै अगर रिव सिबता से 9 वषᭅ बड़ा ह ैऔर राधा कᳱ उ᮫ जॉय से 
7  वषᭅ कम ह,ै तो सिबता कᳱ वतᭅमान उ᮫ ᭍या ह?ै  
 

A) 60 वषᭅ  

B) 55 वषᭅ  

C) 50 वषᭅ  

D) 65 वषᭅ  
 

 

 
 
26) To introduce Shalini, Sudhakar said, “She is the 
maternal grandmother of the son of my sister.” How is 
Shalini related to Rupa, the sole sister of Sudhakar?  

A) Daughter  

B) Mother  

C) Aunty  

D) Sister  
 

 

 
 
26) शािलनी का पᳯरचय दतेे ᱟए, सुधाकर न ेकहा, "वह मेरी बहन के 
बेटे कᳱ नानी ह।ै" शािलनी, ᱨपा कᳱ ᭍या लगती ह ैजो सुधाकर कᳱ 
इकलौती बहन ह?ै  

A) बेटी  

B) माता  

C) मौसी  

D) बहन  
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27) Below four different alphabetical sequences are 
given. Three of them follow the same pattern as: HBP. 
Identify the one sequence that does NOT follow this 
pattern.  

A) GCU  

B) ECQ  

C) ANN  

D) CDL  
 

 

27) नीच ेचार अलग-अलग अᭃरा᭜मक ᮓम ᳰदए गए ह।ᱹ उनमᱶ से तीन 
HBP के जैसे समान पैटनᭅ का अनुसरण करत ेह।ᱹ उस अनुᮓम कᳱ पहचान 
करᱶ जो इस पैटनᭅ का पालन नहᱭ करता ह?ै  
 

A) GCU  

B) ECQ  

C) ANN  

D) CDL  
 

 

 
 
28) What is the code for the string HRJKTP from the 
following figure?  
Figure: 

 
A) %@3#!4  

B) %4@3!4  

C) %423#5  

D) %73#$5  
 

 

 
 
28) िन᳜िलिखत िचᮢ से ᮰ृखंला HRJKTP के िलए कूट ᭍या ह?ै  
िचᮢ: 

 
 

A) %@3#!4  

B) %4@3!4  

C) %423#5  

D) %73#$5  
 

 

 
 
29) Letters of English alphabet are arranged in a circle. 
Starting from A, every 3rd letter is removed out of 
remaining letters. Which letter will be removed in the 
last?  

A) X  

B) O  

C) R  

D) E  
 

 

 
 
29) अंᮕेजी वणᭅमाला के अᭃर एक वृᱫ मᱶ ᳞वि᭭थत ᳰकए जात ेह।ᱹ A से 
शुᱨ, शेष अᭃर से हर तीसरे अᭃर को िनकाल ᳰदया जाता ह ै। आिखर 
मᱶ कौन सा अᭃर हटा ᳰदया जाएगा?  
 

A) X  

B) O  

C) R  

D) E  
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30) A six digit number has all different digits. Any digit of 
it is either odd or a perfect square. The sum of first and 
last digits is 8. How many different possible values can 
the number take?  

A) 96  

B) 48  

C) 120  

D) 72  
 

 

30) छह अंकᲂ कᳱ एक सं᭎या मᱶ सभी िभ᳖ अंक होते ह।ᱹ इसके ᳰकसी भी 
अंक, या तो िवषम या एक पणूᭅ वगᭅ ह।ै ᮧथम और अंितम अंकᲂ कᳱ योग 
8 ह।ै ᳰकतन ेअलग संभव मान यह सं᭎या ले सकता ह?ᱹ 
  

A) 96  

B) 48  

C) 120  

D) 72  
 

 

 
 
31) Which figure is different from the others? 

 
A) 1  

B) 4  

C) 3  

D) 2  
 

 

 
 
31) िचᮢ मᱶ कौन सी आकृित दसूरᲂ से अलग ह?ै  

 
A) 1  

B) 4  

C) 3  

D) 2  
 

 

 
 
32) Which of these options can be judged from one of the 
remaining three options, where P and Q are natural 
numbers?  

A) Last digit of P^Q is 5  

B) P and Q are relatively prime  

C) Last digit of P is 5  

D) Last digit of Q is 5  
 

 

 
 
32) इनमᱶ से कौन सा िवक᭨प शषे तीन िवक᭨पᲂ मᱶ से एक से आंका जा 
सकता ह,ै जहाँ P और Q ᮧाकृितक सं᭎याए ंह?ᱹ 
  

A) P^Q का अंितम अंक 5 ह ै 

B) P और Q अपेᭃाकृत अभा᭔य सं᭎या ह ᱹ 

C) P का अंितम अंक 5 ह ै 

D) Q का अंितम अंक 5 ह ै 
 

 

 
 
33) The next term in the series 121, 169, 289, 361, 529, 
841, ____ is  

A) 899  

B) 1331  

C) 961  

D) 1024  
 

 

 
 
33) ᮰ृंखला 121, 169, 289, 361, 529, 841, ____ मᱶ अगली सं᭎या 
ह ै 

A) 899  

B) 1331  

C) 961  

D) 1024  
 

 



Set ID: 46318_23 8-July-2018_Batch1_Group-III 

Page11of42  

34) Cards numbered from 1 to 20 are mixed up and then 
a card is drawn at random. What is the probability of 
getting an even numbered card on picking?  

A) 1/4  

B) 1/8  

C) 1/2  

D) 1/6  
 

 

34) 1 से 20 तक के िगने गए काडᭅ िमि᮰त ह ᱹऔर ᳰफर एक काडᭅ को 
यादिृ᭒छक ᱨप से िनकाला जाता ह।ै ᮰ेणीब᳍ मᱶ से सम सं᭎या काडᭅ पान े
कᳱ संभावना ᭍या ह?ै  

A) 1/4  

B) 1/8  

C) 1/2  

D) 1/6  
 

 

 
 
35) In a business meeting, there were 8 persons who 
were shaking hands with each other. How many hand 
shakes will take place?  

A) 28  

B) 36  

C) Cannot be determined  

D) 21  
 

 

 
 
35) एक ᳞ावसाियक बैठक मᱶ, 8 लोग ह,ᱹ जो एक-दसूरे के साथ हाथ 
िमलात ेह।ᱹ ᳰकतन ेहाथ आपस मᱶ िमलत ेह?ᱹ  
 

A) 28  

B) 36  

C) िनधाᭅᳯरत नहᱭ ᳰकया जा सकता ह ै 

D) 21  
 

 

 
 
36) The next term in the series 729, 5/3, 243, 5, 81, 15, 
27, 45, 9, ____ is  

A) 105  

B) 75  

C) 90  

D) 135  
 

 

 
 
36) ᮰ृंखला 729, 5/3, 243, 5, 81, 15, 27, 45, 9, ____ मᱶ अगली 
सं᭎या ह ै 

A) 105  

B) 75  

C) 90  

D) 135  
 

 

 
 
37) Which option is similar to "x" after rotation? 
 

 
A) d  

B) c  

C) a  

D) b  
 

 

 
 
37) कौन सा िवक᭨प आवतᭅन (रोटेशन) के बाद "x" जैसा ह?ै 
 

 
A) d  

B) c  

C) a  

D) b  
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38) You are given a statement.  
A) P has 10 marbles more than Q.  
Which of the following questions can be answered by 
using the given statement? 

A) Who is having lesser marbles?  

B) How many marbles P has?  

C) How many marbles they have in total?  

D) How many marbles Q has?  
 

 

38) आपको एक कथन ᳰदया गया ह।ै  
 A) Q कᳱ तलुना मᱶ P के पास 10 माबᭅल अिधक ह।ᱹ  
ᳰदए गए कथनᲂ का उपयोग करके िन᳜ मᱶ से ᳰकस सवाल का उᱫर ᳰदया 
जा सकता ह?ै 

A) ᳰकसके पास कम माबᭅल ह?ᱹ  

B) P के पास ᳰकतन ेमाबᭅल ह?ᱹ  

C) उनके पास कुल ᳰकतन ेमाबᭅल ह?ᱹ  

D) Q के पास ᳰकतन ेमाबᭅल ह?ᱹ  
 

 

 
 
39) How many triangles are there in the following figure? 

   

A) 20  

B) 22  

C) 16  

D) 26  
 

 

 
 
39) िन᳜िलिखत िचᮢ मᱶ ᳰकतने िᮢकोण ह?ᱹ 

 
A) 20  

B) 22  

C) 16  

D) 26  
 

 

 
 
40) Sujata introduced Subir as the son of the brother of 
her mother. How is Subir related to Sujata?  

A) Maternal Uncle  

B) Nephew  

C) Cousin  

D) Son  
 

 

 
 
40) सुजाता न ेसुिबर को अपनी माँ के भाई के बटेे के ᱨप मᱶ पᳯरचय 
कराया। सुिबर सुजाता का ᭍या लगता ह?ै  

A) मामा  

B) भतीजा  

C) ममेरा भाई  

D) बेटा  
 

 

 
 
41) Find the odd one out.  

A) 157  

B) 867  

C) 51  

D) 14739  
 

 

 
 
41) िवषम पद को खोजᱶ।  

A) 157  

B) 867  

C) 51  

D) 14739  
 

 



Set ID: 46318_23 8-July-2018_Batch1_Group-III 

Page13of42  

42) Among the given triad of terms, identify the terms in 
which triad is similar to each other?  

A) A1 - R20 - U21  

B) L12 - O15 - Y25  

C) N14 - L12 - T22  

D) G7 - H11 - J10  
 

 

42) ᳰदए गए तीन पदᲂ मᱶ से, उन अंको कᳱ पहचान करᱶ िजसमᱶ तीनᲂ 
एक दसूरे के समान ह?ᱹ  

A) A1 - R20 - U21  

B) L12 - O15 - Y25  

C) N14 - L12 - T22  

D) G7 - H11 - J10  
 

 

 
 
43) Which picture is different from the other pictures in 
the following figure? 

 
A) d  

B) b  

C) a  

D) c  
 

 

 
 
43) िचᮢ मᱶ कौन सी आकृित अ᭠य आकृितयᲂ से िभ᳖ ह?ै    
 

 
A) d  

B) b  

C) a  

D) c  
 

 

 
 
44) Indicating Shilpa, Asima said, “She is the daughter-
in-law of the grandmother of my father’s only son.” How 
is Shilpa related to Asima?  

A) Sister  

B) Daughter  

C) Mother  

D) Aunty  
 

 

 
 
44) िश᭨पा कᳱ ओर इशारा करत ेᱟए, असीमा न ेकहा, "वह मेरे िपता 
के एकमाᮢ बेटे कᳱ दादी कᳱ बᱠ ह।ै" िश᭨पा असीमा कᳱ ᭍या लगती ह?ै 
  

A) बहन  

B) बेटी  

C) माता  

D) चाची  
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45) Given are some sentences that look similar and 
provide some information. 
A. Some oranges are apples.  
B. All apples are oranges.  
C. No apples are oranges.  
Identify and answer which of them provide equivalent 
information? 

A) A and B  

B) C and A  

C) All provide different information  

D) B and C  
 

 

45) समान ᳰदखन ेवाले कुछ वा᭍य ᳰदए गए ह ैजो कुछ जानकारी ᮧदान 
करत ेह।ᱹ  
A. कुछ संतरे सेब ह।ᱹ 
B. सभी सेब संतरे ह।ᱹ 
C. कोई भी सेब संतरे नहᱭ ह।ᱹ 
पहचानᱶ और बताएं ᳰक उनमᱶ से कौन सा समकᭃ जानकारी ᮧदान करता 
ह।ै 

A) A और B  

B) C और A  

C) सभी अलग-अलग जानकारी ᮧदान करत ेह ᱹ 

D) B और C  
 

 

 
 
46) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Bidar : Karnataka :: Rajkot : ____________ . 

A) Rajasthan  

B) Himachal Pradesh  

C) Gujarat  

D) Tamil Nadu  
 

 

 
 
46) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
बीदर : कनाᭅटक :: राजकोट: ____________। 

A) राज᭭थान  

B) िहमाचल ᮧदशे  

C) गुजरात  

D) तिमलनाडु  
 

 

 
 
47) Which of the following statements can be used to 
take a decision on this problem: Is P a perfect square?  

A) Product of factors of P is 1280  

B) P has 7 factors  

C) Problem cannot be solved  

D) Sum of factors of P is 141  
 

 

 
 
47) िन᳜ मᱶ से कौन सा कथन इस सम᭭या पर िनणᭅय लेन े के िलए 
उपयोग ᳰकया जा सकता ह:ै ᭍या P एक पूणᭅ वगᭅ ह?ै  

A) P के कारकᲂ का गुणन 1280 ह ै 

B) P के 7 कारक ह ᱹ 

C) सम᭭या हल नहᱭ कᳱ जा सकती ह ै 

D) P के कारकᲂ का योग 141 ह ै 
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48) Given are some sentences that look similar and 
provide some information.  
A. Every man is beautiful.  
B. No man is NOT beautiful. 
C. Some men are beautiful. 
Identify and answer which of them provide equivalent 
information? 

A) A and B  

B) All three give different information  

C) A and C  

D) B and C  
 

 

48) समान ᳰदखन ेवाले कुछ वा᭍य ᳰदए गए ह ैजो कुछ जानकारी ᮧदान 
करत ेह।ᱹ  
A. हर आदमी संुदर ह।ै 
B. कोई भी आदमी नहᱭ ह ैजो सु᭠दर नहᱭ ह।ै 
C. कुछ आदमी संुदर ह।ᱹ 
पहचानᱶ और बताएं ᳰक उनमᱶ से कौन सा समकᭃ जानकारी ᮧदान करता 
ह?ै 

A) A और B  

B) सभी अलग-अलग जानकारी ᮧदान करत ेह ᱹ 

C) A और C  

D) B और C  
 

 

 
 
49) How many trapeziums are there in the following 
figure?   

 
A) 5  

B) 6  

C) 13  

D) 10  
 

 

 
 
49) िन᳜िलिखत िचᮢ मᱶ ᳰकतने असमांतरभजु ह?ᱹ 
 

 
A) 5  

B) 6  

C) 13  

D) 10  
 

 

 
 
50) What is the coded string for NOTICE from the 
following figure?  
Figure: 

 
A) acdeqs  

B) efhpqs  

C) fmszaQ  

D) afmqsz  
 

 

 
 
50) िन᳜ िचᮢ से NOTICE का कूट ब᳍ ᳰकया ᱟआ ᮰ृखंला ᭍या होगा? 
िचᮢ: 

 
 

A) acdeqs  

B) efhpqs  

C) fmszaQ  

D) afmqsz  
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51) Below four different alphabetical sequences are 
given. Three of them follow the same pattern as: PRV. 
Identify the one sequence that does NOT follow this 
pattern.  

A) JLP  

B) OQT  

C) DFJ  

D) ACG  
 

 

51) नीच ेचार अलग-अलग अᭃरा᭜मक ᮓम ᳰदए गए ह।ᱹ उनमᱶ से तीन 
PRV के जैसे समान पैटनᭅ का अनुसरण करत ेह।ᱹ उस अनुᮓम कᳱ पहचान 
करᱶ जो इस पैटनᭅ का पालन नहᱭ करता ह?ै  
 

A) JLP  

B) OQT  

C) DFJ  

D) ACG  
 

 

 
 
52) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Gujarat : Garbha :: Assam : _________ . 

A) Bihu  

B) Kuchi Pudi  

C) Kathak  

D) Bharatnatyam  
 

 

 
 
52) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
गुजरात: गभाᭅ  :: असम: _________ 

A) िबᱟ  

B) कुिचपुड़ी  

C) कथक  

D) भरतनाᲷम  
 

 

 
 
53) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Trigonometry : India :: Algebra : ____________ . 

A) Arabian  

B) European  

C) Asian  

D) American  
 

 

 
 
53) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
िᮢकोणिमित: भारत :: बीजगिणत: ____________। 

A) अरबी  

B) यूरोपीय  

C) एिशयाई  

D) अमरीकᳱ  
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54) Which of the images amongst 1, 2, 3 and 4 is the 
correct water image of the following figure X? 

 
A) Image 1  

B) Image 4  

C) Image 2  

D) Image 3  
 

 

54) िन᳜ िचᮢ X के िलए ᳰदये गये 1, 2, 3 और 4 ᮧितिब᭥बᲂ मᱶ से कौन 
सा सही जल ᮧितिब᭥ब ह?ै 

 
A) ᮧितिब᭥ब 1  

B) ᮧितिब᭥ब 4  

C) ᮧितिब᭥ब 2  

D) ᮧितिब᭥ब 3  
 

 

 
 
55) A is the son of B while B and C are the two sisters. E 
is the mother of C. If D is the son of E, which one of the 
following statements is CORRECT?  

A) D is the maternal uncle of A  

B) D is the cousin of A  

C) E is the brother of B  

D) B and D are the sisters  
 

 

 
 
55) A B का बेटा ह ैजबᳰक B और C दोनᲂ बहनᱶ ह।ᱹ E C कᳱ माँ ह।ै 
यᳰद D E का बेटा ह,ै तो िन᳜ कथनᲂ मᱶ से कौन सा एक सही ह?ै 
  

A) D A के मामा ह ᱹ 

B) D A का चचेरा भाई ह ै 

C) E B का भाई ह ै 

D) B और D बहनᱶ ह ᱹ 
 

 

 
 
56) Which of the images amongst 1, 2, 3 and 4 is the 
correct water image of the figure X? 

 
A) Image 1  

B) Image 2  

C) Image 3  

D) Image 4  
 

 

 
 
56) िन᳜ िचᮢ X के िलए ᳰदये गये 1, 2, 3 और 4 ᮧितिब᭥बᲂ मᱶ से कौन 
सा सही जल ᮧितिब᭥ब ह?ै 

 
A) ᮧितिब᭥ब 1  

B) ᮧितिब᭥ब 2  

C) ᮧितिब᭥ब 3  

D) ᮧितिब᭥ब 4  
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57) 26 letters of the alphabetical series are arranged in 
two rows, each containing 13 alphabets according to the 
alphabetical series. The letters in which of these options, 
on joining makes a trapezium?  

A) RIJAR  

B) NBCDN  

C) NQCBN  

D) TJKGT  
 

 

57) वणᭅमाला ᮰ृखंला के 26 अᭃरᲂ को दो पंिᲦयᲂ मᱶ ᳞वि᭭थत ᳰकया 
जाता ह,ै ᮧ᭜येक मᱶ वणᭅमाला ᮰ृखंला के अनुसार 13 वणᭅ ह।ᱹ इन िवक᭨पᲂ 
मᱶ से कौन-से अᭃरᲂ को िमलान ेपर एक असमांतरभजु (ᮝेपेिज़यम) बनता 
ह?ै  

A) RIJAR  

B) NBCDN  

C) NQCBN  

D) TJKGT  
 

 

 
 
58) In a reunion party, each guest shook hands with all 
the other persons only once. The total number of 
handshakes is 1540. How many persons are there in the 
party?  

A) 28  

B) 56  

C) 42  

D) 70  
 

 

 
 
58) एक पनुᳶमᭅलन पाटᱮ मᱶ, हर एक अितिथ न े केवल एक बार दसूरे 
सभी ᳞िᲦयᲂ के साथ हाथ िमलाया, हात िमलान ेकᳱ कुल सं᭎या 1540 
ह।ै पाटᱮ मᱶ ᳰकतन े᳞िᲦ ह?ᱹ  
 

A) 28  

B) 56  

C) 42  

D) 70  
 

 

 
 
59) Which from the following is the missing letter in 
the circle of the given figure? 

 
A) B  

B) Y  

C) M  

D) O  
 

 

 
 
59) ᳰदए गए िचᮢ के एक वᱫृ मᱶ अनपुि᭭थत अᭃर कौन सा ह?ै 
   

 
A) B  

B) Y  

C) M  

D) O  
 

 

 
 
60) Find the odd one out.  

A) Bhagavad Gita  

B) Aranyakas  

C) Upanishads  

D) Dhammapada  
 

 

 
 
60) िवषम पद को खोजᱶ।  

A) भगवद ्गीता  

B) आर᭛यक  

C) उपिनषद  

D) ध᭥मपद  
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Section 2 - Part B-General Awareness  
 

61) Which of the following is a battle dance?  

A) Paiku nratya  

B) Kalbelia dance  

C) Bhangra  

D) Ramleela  
 

 

61) इनमᱶ से कौन सा यु᳍ नृ᭜य ह?ै  

A) पैकू नृ᭜य  

B) कालबेिलया नृ᭜य  

C) भांगड़ा  

D) रामलीला  
 

 

 
 
62) Which among the following violent incidents forced 
Gandhiji to withdraw the Non Cooperation Movement in 
Feburary 1922?  

A) Kakori Case  

B) Chauri Chaura Case  

C) Jallianwala Bagh Massacre  

D) Rowlatt Act  
 

 

 
 
62) िन᳜िलिखत ᳲहसंक घटनाᲐ मᱶ से ᳰकसन े गांधीजी को फरवरी 
1922 मᱶ असहयोग आंदोलन वापस लेन ेके िलए मजबूर ᳰकया? 
  

A) काकोरी घटना  

B) चौरी चौरा घटना  

C) जिलयांवाला बाग नरसंहार  

D) रोवलैट ए᭍ट  
 

 

 
 
63) Which of the following is an oxidizing agent present 
in a safety matchstick?  

A) Potassium chloride  

B) Potassium chlorate  

C) Potassium permanganate  

D) Potassium dichromate  
 

 

 
 
63) िन᳜ मᱶ से कौन सा एक सुरᭃा मािचस मᱶ मौजूद एक ऑ᭍सीकरण 
एजᱶट ह?ै  

A) पोटेिशयम ᭍लोराइड  

B) पोटेिशयम ᭍लोरेट  

C) पोटेिशयम परमगᱹनेट  

D) पोटेिशयम डाइᮓोमेट  
 

 

 
 
64) What is the common name of the disease Amblyopia, 
which is characterized by reduced vision in one eye?  

A) Lazy eye  

B) Grey eye  

C) Dark eye  

D) Red eye  
 

 

 
 
64) एि᭥᭣लओिपया रोग का आम नाम ᭍या ह,ै िजसमᱶ एक आंख से कम 
ᳰदखाई दनेे का लᭃण होता ह?ै  

A) आलसी आँख  

B) भूरी आँख  

C) डाकᭅ  आंख  

D) लाल आँख  
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65) India's biggest aircraft carrier ship, INS Vikramaditya 
is the first to have an ATM onboard. This ATM belongs 
to which of the following Banks?  

A) HDFC Bank  

B) State Bank of India  

C) Axis Bank  

D) ICICI Bank  
 

 

65) भारत का सबसे बड़ा िवमान वाहक जहाज INS िवᮓमाᳰद᭜य पर 
सबसे पहल ेATM ऑनबोडᭅ िबठाया गया। यह ATM िन᳜िलिखत मᱶ से 
ᳰकस बᱹक का ह?ै  

A) HDFC बᱹक  

B) भारतीय ᭭टेट बᱹक  

C) ऐि᭍सस बकᱹ  

D) ICICI बᱹक  
 

 

 
 
66) Which among the following was the first port that was 
developed in Gujarat State after independence?  

A) Kandla  

B) Mandavi  

C) Kutch  

D) Porbandar  
 

 

 
 
66) िन᳜िलिखत मᱶ से कौन ᭭वतंᮢ ता के बाद गजुरात रा᭔य मᱶ िवकिसत 
ᳰकया जाने वाला पहला बंदरगाह था?  

A) कांडला  

B) मांडवी  

C) क᭒छ  

D) पोरबंदर  
 

 

 
 
67) In an exercise conducted by ESPN cricinfo’s 
magazine Cricket Monthly, which of the following 
cricketers pipped Sachin Tendulkar as the greatest ODI 
player in the history of cricket?  

A) Mahendra Singh Dhoni  

B) Rahul Dravid  

C) Vivian Richards  

D) Rohit Sharma  
 

 

 
 
67) ESPN ᳰᮓकइ᭠फो मैगज़ीन ᳰᮓकेट म᭠᭝ली ᳇ारा आयोिजत एक 
अ᭤यास मᱶ, िन᳜िलिखत ᳰᮓकेटरᲂ मᱶ से कौन सिचन तᱶदलुकर को 
नज़दीकᳱ से हराकर ᳰᮓकेट के इितहास मᱶ सबसे बड़ा एकᳰदवसीय 
िखलाड़ी बन गया?  

A) महᱶᮤ  ᳲसंह धोनी  

B) राᱟल ᮤिवड़  

C) िविवयन ᳯरच᭙सᭅ  

D) रोिहत शमाᭅ  
 

 

 
 
68) Which of the following features of the Indian 
Constitution was borrowed from the Constitution of 
Ireland?  

A) Five Year Plan  

B) Fundamental Duties  

C) Directive Principles of State Policy  

D) Bicameral Parliament  
 

 

 
 
68) िन᳜िलिखत मᱶ से भारतीय संिवधान के ᳰकस िवशेषता को आयरलडᱹ 
के संिवधान से िलया गया था?  
 

A) पंचवषᱮय योजना  

B) मौिलक कतᭅ᳞   

C) रा᭔य के नीित िनदशेक िस᳍ांत  

D) ि᳇सदनीय संसद  
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69) When was the Aligarh Muslim University formed?  

A) 1921  

B) 1922  

C) 1920  

D) 1923  
 

 

69) अलीगढ़ मुि᭭लम िव᳡िव᳒ालय का गठन कब ᱟआ था?  

A) 1921  

B) 1922  

C) 1920  

D) 1923  
 

 

 
 
70) Any money which is circulated in the country at the 
time of emergency or war by the order of the government 
is known as:  

A) Token money  

B) Fiat money  

C) Full-bodied money  

D) High powered money  
 

 

 
 
70) सरकार के आदशे ᳇ारा, आपातकालीन या यु᳍ के समय दशे मᱶ 
ᮧचिलत कोई भी पैसा ᳰकस ᱨप मᱶ जाना जाता ह?ै 
  

A) टोकन मनी  

B) ᮆलैट मनी  

C) फ़ुल बॉडीड मनी  

D) हाई पॉवडᭅ मनी  
 

 

 
 
71) Who among the following was elected as the Chief 
Minister of Meghalaya after the assembly elections in 
February 2018?  

A) James Sangma  

B) Mukul Sangma  

C) Agatha Sangma  

D) Conrad Sangma  
 

 

 
 
71) फरवरी 2018 मᱶ िवधानसभा चनुावᲂ के बाद मेघालय के 
मु᭎यमंᮢी के ᱨप मᱶ िन᳜िलिखत मᱶ से ᳰकसे िनवाᭅिचत ᳰकया था? 
  

A) जे᭥स संगमा  

B) मुकुल संगमा  

C) अगाथा संगमा  

D) कॉनराड संगमा  
 

 

 
 
72) A version of hockey called Khong Kangjei, in which 
wrestling too forms a part of the game and where the ball 
can be carried to the goal by kicking it or carring it in 
hand, but the goal can be scored only by hitting the ball 
with the stick, is played in which state of India?  

A) Tamil Nadu  

B) Manipur  

C) Jharkhand  

D) Nagaland  
 

 

 
 
72) हाँकᳱ का एक ᮧाᱨप िजसे 'खांग कांगजी' कहते ह,ᱹ िजसमᱶ कु᭫ती भी 
खेल का एक िह᭭सा ह ᱹऔर जहां गᱶद को गोल रेखा तक ठोकर मारकर 
या हाथ मᱶ रखकर लेजा सकत ेह,ै लेᳰकन गᱶद को केवल छड़ी से मारकर 
ही गोल ᳰकया जा सकता ह,ै भारत के कौनसी रा᭔य मᱶ खलेी जाती ह?ै 
  

A) तिमलनाडु  

B) मिणपुर  

C) झारखंड  

D) नागालᱹड  
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73) Which of the following is closest to the length of the 
Brahmaputra river?  

A) 4000 km  

B) 3900 km  

C) 2900 km  

D) 5800 km  
 

 

73) िन᳜िलिखत मᱶ से कौन ᮩᳬपुᮢ  नदी कᳱ लंबाई के िनकटतम ह?ै 
  

A) 4000 km  

B) 3900 km  

C) 2900 km  

D) 5800 km  
 

 

 
 
74) The Puanchei, a wrap-around skirt called Puan worn 
by the bride at her wedding, during celebrations and 
festivals, belongs to which of the following Indian states? 

A) Rajasthan  

B) Mizoram  

C) Gujarat  

D) Punjab  
 

 

 
 
74) पुआनचेई, पुआन नामक एक लपेटो-᭭कटᭅ ह ैजो द᭨ुहन ᳇ारा, उ᭜सव 
और ᭜यौहारᲂ मᱶ पहना जाता ह ैयह िन᳜िलिखत मᱶ से कौनसी भारतीय 
रा᭔य से स᭥बंिधत ह?ै  

A) राज᭭थान  

B) िमजोरम  

C) गुजरात  

D) पंजाब  
 

 

 
 
75) How many languages were initially included in the 
Eighth Schedule of the Indian Constitution?  

A) 22  

B) 18  

C) 14  

D) 10  
 

 

 
 
75) भारतीय संिवधान कᳱ आठवᱭ अनुसूची मᱶ शुᱨआत मᱶ ᳰकतनी 
भाषाएं शािमल थᱭ?  

A) 22  

B) 18  

C) 14  

D) 10  
 

 

 
 
76) Which of the following companies founded by Sachin 
Bansal and Binny Bansal, was acquired by Walmart Inc. 
in May 2018? 

A) Goibibo  

B) Snapdeal  

C) Justdial  

D) Flipkart  
 

 

 
 
76) सिचन बंसल और िब᳖ी बसंल ᳇ारा ᭭थािपत िन᳜िलिखत मᱶ से 
कौन सी कंपनी मई 2018 मᱶ वॉलमाटᭅ इंक. ᳇ारा अिधᮕिहत कᳱ गई 
थी?  

A) गोआईबीबो  

B) ᳩैपडील  

C) ज᭭टडायल  

D) ि᭢लपकाटᭅ  
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77) Which among the following is a sacred place for 
Hindus and is one of the places of Kumbha Mela?  

A) Badrinath  

B) Bharatpur  

C) Ujjain  

D) Patna  
 

 

77) िन᳜िलिखत मᱶ से कौन ᳲहदंᲐु के िलए एक पिवᮢ ᭭ थान ह ैऔर कंुभ 
मेल ेके ᭭थानᲂ मᱶ से एक ह?ै  

A) बᮤीनाथ  

B) भरतपुर  

C) उᲯैन  

D) पटना  
 

 

 
 
78) Who broke the Spanish football hat-trick record for a 
single club with 32nd treble?  

A) Cristiano Ronaldo  

B) Luis Suarez  

C) Robert Lewandowski  

D) Lionel Messi  
 

 

 
 
78) ᳰकसन े 32 वᱶ ितहरी के साथ एक एकल ᭍लब के िलए ᭭पैिनश 
फुटबॉल हᳯैᮝक का ᳯरकॉडᭅ तोड़ ᳰदया?  

A) ᳰᮓि᭭टयानो रोना᭨डो  

B) लुइस सॉरेज़  

C) रॉबटᭅ लेवानडॉ᭭कᳱ  

D) लॉयनल मैसी  
 

 

 
 
79) Who among the following was the political Guru of 
Gandhiji?  

A) Gopal Krishna Gokhale  

B) Jayaprakash Narayan  

C) Rabindranath Tagore  

D) Babasaheb Bhimrao Ambedkar  
 

 

 
 
79) िन᳜िलिखत मᱶ से कौन गांधीजी के राजनीितक गुᱧ थे? 
  

A) गोपाल कृ᭬ण गोखल े 

B) जयᮧकाश नारायण  

C) रवी᭠ᮤनाथ टैगोर  

D) बाबासाहबे भीमराव अ᭥बेडकर  
 

 

 
 
80) Natural Gas is NOT found in which of the following 
states of India?  

A) Mizoram  

B) Odisha  

C) Gujarat  

D) Andhra Pradesh  
 

 

 
 
80) भारत के िन᳜िलिखत मᱶ से ᳰकस रा᭔य मᱶ ᮧाकृितक गैस नहᱭ पाया 
जाता ह?ै  

A) िमज़ोरम  

B) ओिडशा  

C) गुजरात  

D) आंᮥ ᮧदशे  
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81) Which among the following is NOT a Himalayan 
lake?  

A) Pangong Tso Lake  

B) Tilicho Lake  

C) Tso Moriri Lake  

D) Cheongpyeong Lake  
 

 

81) इनमᱶ से कौन एक िहमालयी झील नहᱭ ह?ै 
  

A) पांगᲂग ᭜सो झील  

B) ितिलचो झील  

C) ᭜सो मोरीरी झील  

D) चेᲐगपयᲂग झील  
 

 

 
 
82) Which of the following companies was first to launch 
‘Tap N Pay’ contactless digital payment wallet 
MoboMoney?  

A) Cognizant Technology Solution  

B) Tech Mahindra  

C) Patni Computers  

D) Wipro Technologies  
 

 

 
 
82) टैप एन पे' कॉ᭠टै᭍टलेस िडिजटल पेमᱶट वॉलेट मोबोमनी को ᮧᭃेिपत 
करन ेवाली िन᳜िलिखत मᱶ से पहली कंपनी कौन थी? 
  

A) कॉिᲨजᱶट टेᲣोलॉजी सो᭨यूशन  

B) टेक मᳲहंᮤ ा  

C) पटनी क᭥᭡यूटसᭅ  

D) िवᮧो टेᲣोलॉजीस  
 

 

 
 
83) Agumbe, one of the highest rainfall receiving places 
in India, is located in which of the following states?  

A) Meghalaya  

B) Kerala  

C) Maharashtra  

D) Karnataka  
 

 

 
 
83) अगुंबे, भारत मᱶ सबसे ᭔यादा बाᳯरश होने वाली जगहᲂ मᱶ से एक, 
िन᳜िलिखत रा᭔यᲂ मᱶ से ᳰकसमᱶ ि᭭थत ह?ै  

A) मेघालय  

B) केरल  

C) महारा᳦  

D) कनाᭅटक  
 

 

 
 
84) Which of the following wars came to an end by the 
Treaty of Sagauli in 1816?  

A) Anglo-Afghan War  

B) Anglo-Nepal War  

C) Anglo-Maratha War  

D) Anglo-French War  
 

 

 
 
84) िन᳜िलिखत यु᳍ मᱶ से कौन सा 1816 मᱶ सागौली संिध ᳇ारा समा᳙ 
ᱟआ था?  

A) एं᭏लो-अफगान यु᳍  

B) एं᭏लो-नपेाल यु᳍  

C) एं᭏लो-मराठा यु᳍  

D) एं᭏लो- ᱶᮨ च यु᳍  
 

 

 

 

 
 

 

 

 
 



Set ID: 46318_23 8-July-2018_Batch1_Group-III 

Page25of42  

85) Who won the 2016 SAFF Women’s Championship?  

A) Sri Lanka  

B) Bangladesh  

C) Pakistan  

D) India  
 

 

85) 2016 के SAFF मिहला चैि᭥पयनिशप ᳰकसन ेजीता?  

A) ᮰ी लकंा  

B) बां᭏लादशे  

C) पाᳰक᭭तान  

D) भारत  
 

 

 
 
86) Which of the following ideas is borrowed from 
'Canadian Constitution' in India?  

A) Single citizenship  

B) Division of powers between Central and State 
Governments  

C) Parliamentary form of government  

D) Federal structure  
 

 

 
 
86) िन᳜िलिखत मᱶ से कौन सा िवचार भारत मᱶ 'कैनेिडयन संिवधान' से 
िलया गया ह?ै  

A) एकल नागᳯरकता  

B) कᱶ ᮤ और रा᭔य सरकारᲂ के बीच अिधकारᲂ का िवभाजन  

C) सरकार का संसदीय ᭭वᱨप  

D) संघीय संरचना  
 

 

 
 
87) Who among the following has the power to interpret 
the Constitution of India?  

A) Supreme Court  

B) President  

C) District Court  

D) Sessions Court  
 

 

 
 
87) िन᳜िलिखत मᱶ से ᳰकसमᱶ भारत के संिवधान का िववेचन करन ेका 
अिधकार ह?ै  

A) उᲬतम ᭠यायालय  

B) रा᳦पित  

C) िजला अदालत  

D) सᮢ ᭠यायालय  
 

 

 
 
88) Non-membranous percussion instrument is called  

A) Vitat Vadya  

B) Tat Vadya  

C) Ghana Vadya  

D) Sushir Vadya  
 

 

 
 
88) गैर-िझ᭨लीदार ट᭍यूसन उपकरण को ᭍या कहा जाता ह?ै  

A) िवतत वा᳒  

B) तट वा᳒  

C) घना वा᳒  

D) सुशीर वा᳒  
 

 

 
 
89) Who is serving as the Air Chief Marshal of Indian Air 
Force, as of April 2018?  

A) Anil Kumar Browne  

B) Pradeep Vasant Naik  

C) Arup Raha  

D) Birender Singh Dhanoa  
 

 

 
 
89) अᮧैल 2018 तक, भारतीय वायुसेना के एयर चीफ माशᭅल के ᱨप 
मᱶ सेवाएं ᳰकसन ेदी ह?ᱹ  

A) अिनल कुमार ᮩाउन  

B) ᮧदीप वसंत नायक  

C) अᱧप राहा  

D) बीरᱶᮤ ᳲसंह धनोआ  
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90) The place directly above the focus of the earthquake 
on the Earth's surface is called:  

A) Epicentre  

B) Focus  

C) Comma  

D) Origin  
 

 

90) धरती कᳱ सतह पर भूकंप के फोकस से ᮧ᭜यᭃतः ऊपर वाला ᭭थान 
᭍या कहलाता ह?ै  

A) उपᳯरकᱶ ᮤ  

B) फोकस  

C) अ᭨पिवराम  

D) ओᳯरिजन  
 

 

 
 
91) Which team won IPL 2017?  

A) Gujarat Lions  

B) Sunrisers Hyderabad  

C) Mumbai Indians  

D) Rising Pune Supergiant  
 

 

 
 
91) ᳰकस टीम ने IPL 2017 जीता?  

A) गुजरात लायंस  

B) सनराइजसᭅ हदैराबाद  

C) मुंबई इंिडयंस  

D) राइᳲजंग पुणे सुपरजायंट  
 

 

 
 
92) Who among the following started newspapers 
'Kesari' and 'Mahratta' to promote his political views?  

A) Mahatma Gandhi  

B) Annie Besant  

C) Gopal Krishna Gokhale  

D) Bal Gangadhar Tilak  
 

 

 
 
92) िन᳜िलिखत मᱶ से ᳰकसन ेअपन ेराजनीितक िवचारᲂ को बढ़ावा दने े
के िलए समाचार पᮢ 'केसरी' और 'महरᱫा' का शभुारंभ ᳰकया?  

A) महा᭜मा गांधी  

B) एनी बेसᱶट  

C) गोपाल कृ᭬ण गोखल े 

D) बाल गगंाधर ितलक  
 

 

 
 
93) In June 2017, the then Urban Development Minister 
M. Venkaiah Naidu launched which index for measuring 
the quality of life in 116 major cities of India?  

A) City Liveability Index  

B) Clean and Healthy City Index  

C) City Dwelling Index  

D) City Habitat Index  
 

 

 
 
93) जून 2017 मᱶ, त᭜कालीन शहरी िवकास मंᮢी एम. वᱶकैया नायडू न े
भारत के 116 ᮧमुख शहरᲂ मᱶ जीवन कᳱ गुणवᱫा को मापने के िलए 
कौन से इंड᭍ैस कᳱ शᱧुआत कᳱ थी?  

A) िसटी िलवेिबिलटी इंड᭍ैस  

B) ᭍लीन एंड ह᭨ैदी िसटी इंड᭍ैस   

C) िसटी ᭙वैᳲलंग इंड᭍ैस  

D) िसटी हिैबटैट इंड᭍ैस  
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94) Which of the following polymers can be easily 
recycled and is commonly used to package carbonated 
soft drinks and water?  

A) Bakelite  

B) Polyethylene terephthalate  

C) Polychloroprene  

D) Polyvinyl Chloride  
 

 

94) िन᳜ मᱶ से कौन सा पॉिलमर आसानी से पनुनᭅवीनीकरण ᳰकया जा 
सकता ह ैऔर आमतौर पर इसका उपयोग काबᲃनेटेड शीतल पेय और 
पानी को पै᳴कंग करन ेके िलए ᳰकया जाता ह?ै  

A) बैकेलाइट  

B) पॉलीएथीलने टेᳯर᭢थलेैट  

C) पॉली᭍लोरोᮧने  

D) पॉलीिवनाइल ᭍लोराइड  
 

 

 
 
95) Who among the following was the most expensive 
player at the pro kabaddi auctions 2016?  

A) Jang Kun Lee  

B) Anup Kumar  

C) Sandeep Narwal  

D) Mohit Chillar  
 

 

 
 
95) 2016 के ᮧो कब᲻ी कᳱ नीलामी मᱶ सबसे महगंे िखलाड़ी कौन थे? 
  

A) जंग कुन ली  

B) अनुप कुमार  

C) संदीप नरवाल  

D) मोिहत िच᭨लर  
 

 

 
 
96) To promote start-ups in the defence sector, the 
Government has approved a Defence Innovation Fund 
(DIF) in March 2017, with initial funding from which of the 
following organizations?  

A) Oil and Natural Gas Corporation and National 
Thermal Power Corporation  

B) Bharat Aluminium and Tata Steel  

C) Tata Institute of Fundamental Research and Suzlon 
Energy  

D) Bharat Electronics Ltd and Hindustan Aeronautics 
Ltd  

 

 

 
 
96) रᭃा ᭃेᮢ मᱶ ᭭टाटᭅ-अप को बढ़ावा दनेे के िलए, सरकार ने माचᭅ 
2017 मᱶ एक िडफᱶ स इनोवशेन फंड (DIF) को िन᳜िलिखत संगठनᲂ मᱶ 
से ᳰकससे ᮧारंिभक िनिधकरण के साथ मजंूरी द ेदी ह?ै 
  

A) तेल एवं ᮧाकृितक गैस िनगम िलिमटेड और रा᳦ीय तापिव᳒ुत 
िनगम िलिमटेड  

B) भारत ए᭨युिमिनयम और टाटा ᭭टील  

C) टाटा इं᭭टीᲷूट ऑफ फंडामᱶटल ᳯरसचᭅ और सुजलॉन एनजᱮ  

D) भारत इले᭍ᮝॉिन᭍स िलिमटेड और िह᭠दु᭭ तान ऐरोनॉᳯट᭍स 
िलिमटेड  

 

 

 
 
97) Which of the following treaties pertains towards 
protection of the Olympic Symbol?  

A) Washington Treaty  

B) Budapest Treaty  

C) Nairobi Treaty  

D) Olympia Protocol  
 

 

 
 
97) िन᳜ मᱶ से कौन सा संिध ओᳲलंिपक ᮧतीक कᳱ रᭃा के िलए ह?ै 
  

A) वाᳲशंगटन संिध  

B) बुडापे᭭ट संिध  

C) नैरोबी संिध  

D) ओलंिपया ᮧोटोकॉल  
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98) Who was the British Governor- General of India in 
1773 who introduced the Regulating Act?  

A) Lord Mayo  

B) Warren Hastings  

C) Lord Rippon  

D) Lord Cornwallis  
 

 

98) 1773 मᱶ भारत के िᮩᳯटश गवनᭅर-जनरल कौन थे िज᭠हᲂन े
िविनयमन अिधिनयम कᳱ शुᱧआत कᳱ?  

A) लॉडᭅ मेयो  

B) वॉरेन हᳲे᭭टं᭏स  

C) लॉडᭅ ᳯर᭡पन  

D) लॉडᭅ कॉनᭅवॉिलस  
 

 

 
 
99) In the economic sense, the goods which are in 
demand in increasing quantities, as consumers' income 
rises are called:  

A) Inferior Consumer Goods  

B) Giffen Goods  

C) Free Goods  

D) Normal Consumer Goods  
 

 

 
 
99) आᳶथᭅक अथᭅ मᱶ, िजन व᭭तुᲐ कᳱ माँग उपभोᲦाᲐ कᳱ आय मᱶ 
बढ़ोतरी से अिधक माᮢा मᱶ कᳱ जाती ह,ै उ᭠हᱶ यह कहा जाता ह:ै 
  

A) िन᳜ उपभोᲦा व᭭तुए ँ 

B) िजफेन व᭭तएु ँ 

C) मु᭢त व᭭तएु ँ 

D) सामा᭠य उपभोᲦा व᭭तएु ँ 
 

 

 
 
100) Who is considered as the head of the State in India? 

A) Prime Minister  

B) President  

C) Governor  

D) Council of Ministers  
 

 

 
 
100) भारत मᱶ रा᭔य के ᮧमुख के ᱨप मᱶ कौन माना जाता ह?ै  

A) ᮧधान मंᮢ ी  

B) रा᳦पित  

C) रा᭔यपाल  

D) मंिᮢमंडल  
 

 

 
 
101) Team Indus is related to which of the following 
scientific processes?  

A) Name of the second Mars mission to be conducted 
in 2020  

B) New innovative technology in online digital marketing 

C) India's first private moon mission  

D) High technology developed to detect clean catch in 
cricket  

 

 

 
 
101) टीम इंडस िन᳜िलिखत मᱶ से ᳰकस वै᭄ािनक ᮧᳰᮓया से संबंिधत 
ह?ै  

A) 2020 मᱶ आयोिजत होन ेवाल ेदसूरे मासᭅ अिभयान का नाम  

B) ऑनलाइन िडिजटल माकᱷ ᳳटंग मᱶ नई ᮧगितशील ᮧौ᳒ोिगकᳱ  

C) भारत का पहला िनजी चाँद अिभयान  

D) ᳰᮓकेट मᱶ ᭍लीन कैच का पता लगाने के िलए िवकिसत कᳱ गई उᲬ 
तकनीक  
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102) Who among the following is the Chairman of the 
GST Council?  

A) Union Finance Minister of India  

B) Home Minister of India  

C) Governor, Reserve Bank of India  

D) The Comptroller and Auditor General of India  
 

 

102) िन᳜िलिखत मᱶ से GST पᳯरषद के अ᭟यᭃ कौन ह?ᱹ 
  

A) भारतीय कᱶ ᮤीय िवᱫ मंᮢी  

B) भारत के गृहमंᮢी  

C) गवनᭅर, भारतीय ᳯरजवᭅ बकᱹ  

D) भारत के िनयंᮢक और महालखेापरीᭃक  
 

 

 
 
103) Who among the following established the Brahmo 
Samaj in the year 1828?  

A) Swami Vivekananda  

B) Raja Ram Mohan Roy  

C) Swami Dayananda  

D) Radhakrishnan  
 

 

 
 
103) िन᳜िलिखत मᱶ से ᳰकसन े1828 मᱶ ᮩᳬो समाज कᳱ ᭭थापना कᳱ 
थी?  

A) ᭭वामी िववेकानंद  

B) राजा राम मोहन रॉय  

C) ᭭वामी दयानंद  

D) राधाकृ᭬णन  
 

 

 
 
104) Who is known as the head of the Indian Republic?  

A) Election Commissioner  

B) President  

C) Prime Minister  

D) Supreme Court Judge  
 

 

 
 
104) भारतीय गणरा᭔य के ᮧमुख के ᱨप मᱶ कौन जाना जाता ह?ै  

A) चुनाव आयुᲦ  

B) रा᳦पित  

C) ᮧधान मंᮢ ी  

D) सुᮧीम कोटᭅ जज  
 

 

 
 
105) Who was the President of India when the 1975-77 
Emergency was imposed?  

A) Varahagiri Venkata Giri  

B) Dr. Zakir Husain  

C) Dr. Rajendra Prasad  

D) Dr. Fakhruddin Ali Ahmed  
 

 

 
 
105) 1975-77 मᱶ जब आपातकाल घोिषत था तब भारत के रा᳦पित 
कौन थे?  

A) वरहिगᳯर वᱶकट िगᳯर  

B) डॉ. ज़ाᳰकर ᱟसैन  

C) डॉ. राजᱶᮤ ᮧसाद  

D) डॉ. फखᱧ᳎ीन अली अहमद  
 

 

 
 
106) Which enzyme is present in intestitinal secretions?  

A) Thyroglobulin  

B) Oxytocin  

C) Pepsin  

D) Rennin  
 

 

 
 
106) कौन सा एंजाइम आंᮢ ᮲ावᲂ मᱶ मौजूद ह?ै  

A) थायरो᭏लो᭣युिलन  

B) ऑ᭍सीटोिसन  

C) पेि᭡सन  

D) रेिनन  
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107) List II mentioned in the Seventh Schedule of the 
Indian Constitution, is also known as  

A) Union List  

B) State List  

C) Concurrent List  

D) Electoral List  
 

 

107) भारतीय संिवधान कᳱ सातवᱭ अनुसूची मᱶ उि᭨लिखत सूची II और 
ᳰकस नाम से भी जाना जाता ह?ै  

A) संघ सूची  

B) रा᭔य सूची  

C) समवतᱮ सूची  

D) चुनाव सूची  
 

 

 
 
108) As per the 42nd Amendment, in the Preamble to 
the Constitution of India, the words, "SOVEREIGN 
DEMOCRATIC REPUBLIC" were substituted with  

A) "SOVEREIGN SOCIALIST AUTOCRATIC 
REPUBLIC"  

B) "SOVEREIGN SOCIALIST SECULAR 
DEMOCRATIC REPUBLIC"  

C) "SOVEREIGN SOCIALIST DEMOCRATIC 
REPUBLIC"  

D) "SOCIALIST INDEPENDENT REPUBLIC"  
 

 

 
 
108) 42 वᱶ संिवधान के अनसुार, भारत के संिवधान के उ᳎ेिशका मᱶ, 
श᭣द, "ᮧभु᭜वसंप᳖ लोकतंᮢा᭜मक ᳯरपि᭣लक" को ᳰकस से बदला गया 
था?  

A) "ᮧभु᭜वसंप᳖ समाजवादी एकतांिᮢक गणरा᭔य"  

B) "ᮧभु᭜वसंप᳖ समाजवादी धमᭅिनरपेᭃ लोकतंᮢा᭜मक गणरा᭔य"  

C) "ᮧभु᭜वसंप᳖ समाजवादी लोकतंᮢ ा᭜मक गणरा᭔य"  

D) "समाजवादी ᭭वतंᮢ  गणरा᭔य"  
 

 

 
 
109) As of July 2017, which of the following Sensitive 
Index in Indian Capital Market crossed 10,000 mark for 
the first time in its history?  

A) Nifty  

B) CNX IT  

C) BSE Bankex  

D) BSE Sensex  
 

 

 
 
109) जुलाई 2017 तक भारतीय पूंजी बाजार मᱶ िन᳜ सᱶिसᳯटव इंड᭍ेस 
मᱶ से ᳰकसन ेअपन ेइितहास मᱶ पहली बार 10,000 अंक को पार ᳰकया? 
  

A) िनᮆटी  

B) CNX IT  

C) BSE बकेᱹ᭍स  

D) BSE सᱶसे᭍स  
 

 

 
 
110) It is NOT possible for the Parliament to override the 
Indian Constitution. Why?  

A) Because it is created by a special Constituent 
Assembly  

B) Because it is the shortest Constitution in the world  

C) Because Supreme Court is empowered to do so  

D) Because it is the lengthiest Constitution in the world  
 

 

 
 
110) भारतीय संिवधान को र᳎ करना (ओवरराइड) करना संसद के 
िलए संभव नहᱭ ह।ै ᭍यᲂ?  

A) ᭍यᲂᳰक यह एक िवशेष संिवधान सभा ᳇ारा बनाई गई ह ै 

B) ᭍यᲂᳰक यह दिुनया मᱶ सबसे छोटा िवधान ह ै 

C) ᭍यᲂᳰक सुᮧीम कोटᭅ को ऐसा करन ेके िलए शिᲦ दी गई ह ै 

D) ᭍यᲂᳰक यह दिुनया मᱶ सबसे लंबा िवधान ह ै 
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111) As per Article 55(3) of the Constitution of India, the 
President of India is elected through which of the 
following processes?  

A) Functional representation  

B) Proportional representation  

C) Minority representation  

D) Territorial representation  
 

 

111) भारत के संिवधान के अन᭒ुछेद 55 (3) के अनुसार, भारत के 
रा᳦पित िन᳜ ᮧᳰᮓयाᲐ मᱶ से ᳰकसके ᳇ारा चुन ेजात ेह?ᱹ 
  

A) कायाᭅ᭜मक ᮧितिनधान  

B) आनुपाितक ᮧितिनधान  

C) अ᭨पसं᭎यक ᮧितिनधान  

D) ᮧादिेशक ᮧितिनधान  
 

 

 
 
112) In both plants and animals, the term 'Eukaryote' 
refers to  

A) presence of glycocalyx  

B) presence of a true nucleus  

C) absence of mitochondria  

D) absence of nucleus  
 

 

 
 
112) पौधᲂ और जानवरᲂ दोनᲂ मᱶ श᭣द 'यूकायᲃट' का अथᭅ ह ै
  

A) ᭏लाइकोकैिलस कᳱ उपि᭭थित  

B) एक सही के᭠ᮤक कᳱ उपि᭭थित  

C) िमटोकᲂिᮟया कᳱ अनुपि᭭थित  

D) के᭠ᮤक कᳱ अनुपि᭭थित  
 

 

 
 
113) Which of the following compounds used to kill algae 
and fungi, is blue in colour?  

A) Copper sulphate  

B) Cobalt chloride  

C) Manganese chloride  

D) Sodium nitrate  
 

 

 
 
113) शैवाल और कवक को मारने के िलए इ᭭तमेाल ᳰकया जानेवाला 
िन᳜ मᱶ से कौन सा यौिगक का रंग नीला होता ह?ै  

A) कॉपर स᭨फेट  

B) कोबा᭨ट ᭍लोराइड  

C) मᱹगनीज ᭍लोराइड  

D) सोिडयम नाइᮝेट  
 

 

 
 
114) In Economics, if the demand for a good is elastic 
then the price elasticity will be  

A) between zero and one  

B) equal to one  

C) lesser than zero  

D) greater than one  
 

 

 
 
114) अथᭅशाᳫ मᱶ, यᳰद एक सामान कᳱ मांग लोचदार ह ै तो म᭨ूय 
लोचन होगी  

A) शू᭠य और एक के बीच  

B) एक के बराबर  

C) शू᭠य से कम  

D) एक से अिधक  
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115) Why was the Cabinet Mission sent to India by the 
British Government?  

A) To set up the Constituent Assembly only in the 
Northern part of India  

B) To approve the effective date for constitution in 
Britain  

C) Resolve the whole issue of, freedom from Britishers 
and settling a constitution in India  

D) To draft the constitution for the British government 
and adoption of an Indian Culture in Britain  

 

 

115) िᮩᳯटश सरकार न ेकैिबनेट िमशन को भारत ᭍यᲂ भेजा था? 
  

A) केवल भारत के उᱫरी भाग मᱶ संिवधान सभा ᭭थािपत करन ेके िलए 

B) िᮩटेन मᱶ संिवधान के ᮧभावी तारीख को ᭭वीकृित दनेे के िलए  

C) अंᮕेजᲂ से ᭭वतंᮢता, भारत मᱶ एक संिवधान का िनपटारा करन ेके 
पूरे मु᳎े को हल करन ेके िलए  

D) िᮩᳯटश सरकार के िलए संिवधान का मसौदा तैयार करन ेऔर िᮩटेन 
मᱶ एक भारतीय सं᭭कृित को अपनान ेके िलए  

 

 

 
 
116) In context to the institution NITI Aayog, NITI stands 
for  

A) National Initiative for Transforming India  

B) National Innovative and Technological Institute  

C) National Intellectual and Technological Institute  

D) National Institution for Transforming India  
 

 

 
 
116) सं᭭था NITI आयोग के संदभᭅ मᱶ, NITI का पूरा ᱨप ह ै
  

A) नॅशनल इिनिशएᳯटव फॉर ᮝांसफॉᳺमᲈग इंिडया  

B) नॅशनल इनोवेᳯटव एंड टेᲣोलॉिजकल इंि᭭टᲷूट  

C) नॅशनल इंटेल᭍ेचुअल एंड टेᲣोलॉिजकल इंि᭭टᲷूट  

D) नॅशनल इंि᭭टᲷशून फॉर ᮝांसफॉᳺमᲈग इंिडया  
 

 

 
 
117) Why is gypsum added to the Portland cement?  

A) To delay the process of hardening  

B) To regulate its setting time  

C) To increase the strength of the cement  

D) To act as a flux during manufacturing  
 

 

 
 
117) पोटᭅलᱹड सीमᱶट मᱶ िज᭡सम ᭍यᲂ िमलाया जाता ह?ै  

A) स᭎त कᳱ ᮧᳰᮓया मᱶ िवलंब करन ेके िलए  

B) इसकᳱ सेᳳटंग समय को ᮓम मᱶ रखन ेके िलए  

C) सीमᱶट कᳱ ताकत बढ़ाने के िलए  

D) िनमाᭅण के दौरान ᮧवाह के ᱨप मᱶ कायᭅ करन ेके िलए  
 

 

 
 
118) On which of the following rivers is the Nagarjuna 
Sagar project constructed?  

A) Ganges  

B) Kaveri  

C) Krishna  

D) Brahmaputra  
 

 

 
 
118) िन᳜िलिखत नᳰदयᲂ मᱶ से ᳰकस पर नागाजुᭅन सागर पᳯरयोजना 
का िनमाᭅण ᳰकया गया ह?ै  

A) गंगा  

B) कावेरी  

C) कृ᭬णा  

D) ᮩᳬपुᮢ   
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119) India's first underwater rail tunnel is constructed in 
which of the following metropolitan cities?  

A) Kolkata  

B) Mumbai  

C) Chennai  

D) Bengaluru  
 

 

119) िन᳜ मᱶ से ᳰकस मᮝेोपॉिलटन शहर मᱶ भारत के पहल ेअ᭠तजᭅलीय 
रेल सुरंग का िनमाᭅण ᳰकया गया ह?ै  

A) कोलकाता  

B) मुंबई  

C) चे᳖ई  

D) बᱶगलुᱧ  
 

 

 
 
120) Scientists at Indian Institute of Technology, Delhi 
developed which of the following cheapest device 
capable of restricting up to 95% of dust and air 
pollutants?  

A) Ultrafilto  

B) Pure-Inhale  

C) Nasovital  

D) Nasofilters  
 

 

 
 
120) भारतीय ᮧौ᳒ोिगकᳱ सं᭭थान, ᳰद᭨ली के वै᭄ािनकᲂ न ेिन᳜ मᱶ से 
कौन से सबसे स᭭ते उपकरण का िवकास ᳰकया, जो 95% धूल और वायु 
ᮧदषूक को सीिमत करन ेकᳱ ᭃमता रखता ह?ᱹ  
 

A) अ᭨ᮝाᳰफलटो  

B) ᭡योर इ᭠हले  

C) नैसोवाइटल  

D) नासोᳰफलटसᭅ  
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Section 3 - Part C-English Language  
 

121) Identify the Compound sentence.  

A) He appears briefly towards the end of the film 
in a cameo role.  

B) She's very hard working but not very 
imaginative.  

C) There is some wonderful calligraphy in these 
old manuscripts.  

D) The stadium has a seating capacity of 50,000.  
 

 

 
 
122) Choose the correct spelling from the four 
options:  

A) acqueintance  

B) acquaintansce  

C) acquaintance  

D) acquaintence  
 

 

 
 
123) Fill in the blanks with the correct option: 
On my next birthday I ________ invite a hundred 
guests. 

A) am  

B) will  

C) was  

D) is  
 

 

 
 
124) Fill in the blanks with the correct option:  
Being a doctor, she is ________ call all the time. 

A) about  

B) for  

C) on  

D) in  
 

 

 

125) Identify the meaning of the underlined 
Idiom/Phrase:  
It is sometimes wiser to rely on horse sense than on 
gut feeling. 

A) professional guidance  

B) parent's expertise  

C) peer advice  

D) common sense  
 

 

 
 
126) Identify the correct statement: 
(A) They're selling off last year's stock at half price. 
(B) The farmers feel they've been sold off by their 
government in the negotiations. 
(C) She's really sold off on the idea of buying a new 
car. 
(D) Here's an idea that'll sell off.  

A) D  

B) A  

C) B  

D) C  
 

 

 
 
127) Choose the antonym of the underlined word. 
Bhagat Singh is a perfect epitome of courage and 
bravery. 

A) Imperfect  

B) Great  

C) Timorous  

D) Meticulous  
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128) Identify the synonym of the italicised word:  
Manisha became furious when she got the 
derogatory letter from her office. 

A) Obliged  

B) Ghastly  

C) Respectful  

D) Irate  
 

 

 
 
129) Fill in the blanks with the correct option: 
The final results ________ up on the notice board. 

A) goes  

B) have gone  

C) going  

D) has gone  
 

 

 
 
130) Identify the meaning of the underlined 
Idiom/Phrase:  
His reputation is now on the wane. 

A) declining  

B) rising  

C) destroyed  

D) ruined  
 

 

 
 
131) Fill in the blanks with the correct option:  
Could you strain ________ vegetables, please. 

A) an  

B) No Article  

C) a  

D) the  
 

 

 

 

 

132) Fill in the blanks with the correct option: 
My house is small but it is comfortable to 
live___________ . 

A) on  

B) at  

C) in  

D) to  
 

 

 
 
133) Identify the correct statement: 
(A) She finds it impossible to shut off the memory 
after the accident. 
(B) The music room is shut off from the rest of the 
house by a soundproof partition. 
(C) They shut that factory off. 
(D) He was off work for a week after he shut off his 
hand in the car door.  

A) B  

B) A  

C) C  

D) D  
 

 

 
 
134) Fill in the blanks with the correct option:  
The stone hit the thief ________ his shoulder. 

A) from  

B) on  

C) at  

D) in  
 

 

 
 
135) Identify the Compound sentence.  

A) The child crawled across the floor.  

B) I've run out of milk.  

C) They sat in the back row of the cinema.  

D) I took one look at her and cracked up.  
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136) Fill in the blanks with the correct option: 
There was __________ light wind blowing. 

A) a  

B) an  

C) No Article  

D) the  
 

 

 
 
137) Identify the correct statement: 
(A) Management is looking back at ways of cutting 
costs. 
(B) I've looked back everywhere but I can't find my 
glasses anywhere. 
(C) When I look back on our school days, it seems 
as if they were a century ago. 
(D) The auditors looked back into the records to find 
the cause of the discrepancy.  

A) A  

B) D  

C) B  

D) C  
 

 

 
 
138) Fill in the blanks with the correct option:  
I am leaving for Mumbai with _________ family. 

A) Us  

B) I  

C) My  

D) They  
 

 

 
 
139) Choose the correct spelling from the four 
options:  

A) persevarance  

B) perserverance  

C) persaverance  

D) perseverance  
 

 

140) Identify the error in the following sentence. The 
error if any will be in one part of the sentence, the 
number of that part is your answer. If there is no 
error, mark your answer as D: 
(A)She never / (B)complain, but/ (C) she’s obviously 
exhausted./ (D) No error  

A) D  

B) B  

C) C  

D) A  
 

 

 
 
141) Identify the synonym of the italicised word: 
Is it a copy of the main document? 

A) Duplicate  

B) Brief  

C) Revision  

D) Rewrite  
 

 

 
 
142) Choose the option that best completes the 
sentence: 
He gave a long, _________ reply that didn't really 
answer the question. 

A) unambiguous  

B) rambling  

C) precise  

D) explicit  
 

 

 
 
143) Fill in the blanks with the correct option:  
In Greek mythology, love is personified by 
_____ goddess, Aphrodite. 

A) an  

B) a  

C) the  

D) No Article  
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144) Fill in the blanks with the correct option:  
The number of cars which are stolen every year 
______. 

A) were rising  

B) rise  

C) has risen  

D) rising  
 

 

 
 
145) Choose the antonym of the underlined word.  
The robber was granted clemency in the court. 

A) Pity  

B) Mercy  

C) Mercilessness  

D) Forbearance  
 

 

 
 
146) Fill in the blanks with the correct option:  
He _______ his left hand so typed with one hand. 

A) injure  

B) have injured  

C) had injured  

D) injures  
 

 

 
 
147) Identify the synonym of the italicised word:  
The political condition in Afganistan is revamping by 
the day. 

A) Carrying out  

B) Improving  

C) Deteriorating  

D) Lowering  
 

 

 

 

 

148) Fill in the blanks with the correct option:  
They were discussing ___________ the next college 
event. 

A) for  

B) about  

C) on  

D) at  
 

 

 
 
149) Fill in the blanks with the correct option:  
She kept me talking on ______ phone for half an 
hour. 

A) an  

B) a  

C) the  

D) No Article  
 

 

 
 
150) Identify the synonym of the italicised word:  
The old employee's greatest advantage was his 
honesty. 

A) Asset  

B) Scandle  

C) Doubt  

D) Shortcoming  
 

 

 
 
151) Fill in the blanks with the correct option:  
She expresses about woman in ___________ prose. 

A) Them  

B) His  

C) It  

D) Her  
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152) Choose the correct spelling from the four 
options:  

A) neccesary  

B) necesary  

C) necessary  

D) neccessary  
 

 

 
 
153) Fill in the blanks with the correct option: 
He was _________ tower of strength to me when I 
was ill. 

A) a  

B) the  

C) an  

D) No Article  
 

 

 
 
154) Fill in the blanks with the correct option:  
I __________ working here for five years next 
October. 

A) shall  

B) shall have be  

C) will have  

D) shall have been  
 

 

 
 
155) Choose the antonym of the underlined word.  
Liabilities will be cleared by the end of this month, 
the company official said. 

A) Duties  

B) Obligations  

C) Debts  

D) Assets  
 

 

 

 
 

156) Fill in the blanks with the correct option:  
I caught __________ plane with only __________two 
minutes to spare. 

A) the, No Article  

B) No Article required  

C) a, an  

D) No Article, a  
 

 

 
 
157) Fill in the blanks with the correct option:  
My father wanted to talk to ____________ in the 
morning. 

A) His  

B) Me  

C) Their  

D) He  
 

 

 
 
158) Choose the correct spelling from the four 
options:  

A) managable  

B) manegeable  

C) manageable  

D) menageable  
 

 

 
 
159) Identify the meaning of the underlined 
Idiom/Phrase:  
He turned me off with his lackadaisical attitude. 

A) irritated me  

B) bored me   

C) inspired me  

D) scolded me  
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160) Fill in the blanks with the correct option:  
Their methods of assessment ___________ 
accurate results. 

A) has produced  

B) producing  

C) produces  

D) produce  
 

 

 
 
161) Choose the option that best completes the 
sentence:  
A _______ legislature is a blot on democracy. 

A) massive  

B) supplant  

C) supine  

D) scurrilous  
 

 

 
 
162) Choose the antonym of the underlined word. 
The impending international pressure on Pakistan 
will give good results to India. 

A) Distant  

B) Approaching  

C) Hovering  

D) Coming  
 

 

 
 
163) Fill in the blanks with the correct option:  
Neither of _________ was present in the conference 
hall on Tuesday. 

A) Them  

B) She  

C) It  

D) He  
 

 

 
 

164) Fill in the blanks with the correct option:  
If it __________, I won't go out. 

A) rains  

B) rain  

C) will rain  

D) should be raining  
 

 

 
 
165) Choose the antonym of the underlined word. 
The immediate outcomes of GST in India are 
doubtful. 

A) Distant  

B) Proximate  

C) Next  

D) Near  
 

 

 
 
166) Fill in the blanks with the correct option:  
With hardwork, Ria is capable _______ passing the 
exam. 

A) in  

B) from  

C) to  

D) of  
 

 

 
 
167) Fill in the blanks with the correct option:  
It _______ an area of outstanding beauty. 

A) is  

B) have been  

C) being  

D) were  
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168) Choose the antonym of the underlined word. 
The CEO has been a racy fellow in his school days. 

A) Spirited  

B) Dull  

C) Lively  

D) Bright  
 

 

 
 
169) Fill in the blanks with the correct option:  
The man sailing with me in the boat was very 
nervous. He __________ never _______ before. 

A) has, sailed  

B) had, sailed  

C) has, sail  

D) have, sailed  
 

 

 
 
170) Identify the Complex sentence.  

A) The logs crackled and popped in the fireplace.  

B) An elderly couple lives next door.  

C) When I was younger, I could stay up all night.  

D) The radio started to crackle.  
 

 

 
 
171) Identify the synonym of the italicised word:  
The dead lying there, sacrificed their lives for the 
betterment of the country. 

A) Departed  

B) Immortal  

C) Everlasting  

D) Sleeping  
 

 

 

 

 

 

172) Fill in the blanks with the correct option:  
___________ my stay in Kerala, I saw many 
beaches. 

A) To  

B) On  

C) From  

D) During  
 

 

 
 
173) Fill in the blanks with the correct option:  
Priya ______ karate class every Saturday. 

A) attending  

B) attend  

C) attends  

D) attended  
 

 

 
 
174) Identify the meaning of the underlined 
Idiom/Phrase:  
My friend drops me at my office although it is out of 
his way. 

A) faraway  

B) nearby  

C) not in his route  

D) in the opposite direction  
 

 

 
 
175) Identify the Compound sentence.  

A) After her death, he gave himself up to grief.  

B) We had very little money left, so we ate frugally. 

C) The archive is a goldmine for historians.  

D) She has all kinds of grand ideas.  
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176) Fill in the blanks with the correct option:  
I __________ to Canada thrice. 

A) has been  

B) go  

C) been  

D) have been  
 

 

 
 
177) Fill in the blanks with the correct option:  
How long _____________ living in Kolkata before 
moving here? 

A) had you been  

B) had you  

C) were  

D) have you been  
 

 

 
 
178) Identify the synonym of the italicised word:  
The car driver changed direction abruptly, giving 
rise to great panic in the car. 

A) Unnecessarily  

B) Shortly  

C) Unexpectedly  

D) Quickly  
 

 

 
 
179) Choose the option that best completes the 
sentence :  
Deciduous trees are trees__________. 

A) whom lose their leaves in winter  

B) when they lose their leaves in winter  

C) that lose their leaves in winter  

D) who lose their leaves in winter  
 
 

 

 

180) Choose the option that best completes the 
sentence:  
Does her expenditure _____________ her income? 

A) exceed  

B) precede  

C) accede  

D) proceed  
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Answer Keys 
1 D 46 C 91 C 136 A 
2 A 47 B 92 D 137 D 
3 B 48 A 93 A 138 C 
4 D 49 B 94 B 139 D 
5 D 50 C 95 D 140 B 
6 C 51 B 96 D 141 A 
7 A 52 A 97 C 142 B 
8 D 53 A 98 B 143 C 
9 C 54 D 99 D 144 C 

10 B 55 A 100 B 145 C 
11 A 56 C 101 C 146 C 
12 A 57 C 102 A 147 B 
13 B 58 B 103 B 148 B 
14 D 59 D 104 B 149 C 
15 D 60 D 105 D 150 A 
16 D 61 A 106 C 151 D 
17 C 62 B 107 B 152 C 
18 D 63 B 108 B 153 A 
19 C 64 A 109 A 154 D 
20 C 65 B 110 A 155 D 
21 B 66 A 111 B 156 A 
22 C 67 C 112 B 157 B 
23 B 68 C 113 A 158 C 
24 D 69 C 114 D 159 B 
25 A 70 B 115 C 160 D 
26 B 71 D 116 D 161 C 
27 B 72 B 117 B 162 A 
28 A 73 C 118 C 163 A 
29 B 74 B 119 A 164 A 
30 A 75 C 120 D 165 A 
31 B 76 D 121 B 166 D 
32 A 77 C 122 C 167 A 
33 C 78 D 123 B 168 B 
34 C 79 A 124 C 169 B 
35 A 80 A 125 D 170 C 
36 D 81 D 126 B 171 A 
37 C 82 B 127 A 172 D 
38 A 83 D 128 D 173 C 
39 D 84 B 129 B 174 C 
40 C 85 D 130 A 175 B 
41 A 86 D 131 D 176 D 
42 B 87 A 132 C 177 A 
43 A 88 C 133 A 178 C 
44 C 89 D 134 B 179 C 
45 C 90 A 135 D 180 A 

 


